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I Analyzing the enumerations in the nwn
a  Assumption: an enumeration is presented to exclude other viable candidates for inclusion
b Exclusion of the ¥¢»7. non (which may have been included via y'p as per X1 27)
i Note: according to X0 17, now is included; the enumeration excludes paYn
1 Explanation: since 903 11p is inferred from purchase of land (119 nTw) — 8™ that Pa*on would be valid
2 Reason for exclusion: po9yn don’t require any value — which cannot be applied to pwiTp (R”2v7 ,maoin)
¢ Exclusion of 89’0: n¥'9n (which might have been inferred via 1’p from nna
I  Revisiting the source for qu3 »v11p
a  Additional question: (2:1) MmN Mwn — provides that 903 'v17p are a right and property of father — source?
b  Answer #1 (37): v. 2 — implication that there is no money given to this master when she leaves, but there is when she
leaves another master (father) — and it goes to him, as per v. 3 (he has rights to accept pwy1p for her)
i Challenge: perhaps this only applies to a mvp (she has no independent financial standing) — but not a 1
ii ~ Answer: v. 4 -> all benefits of m 1 go to her father
1 Challenge: if so, why did 21 infer that a girl’s wages go to her father from v. 5?
2 Answer: cannot infer pnn (wages) from XNoR
(a) Challenge: why not infer wages from v3p (of an nPIR or NMan)
(b) Answer: we cannot infer 03p from MR
(c) Challenge: why not infer wages from B9 nwia (of an nonR — they’re pnn and go to father)
(d) Answer: o nwia directly affect the father - money goes to him
¢ Answer #2: v. 2 — excludes a parallel exit (of a 091 who was an nnR and money didn’t go to her master)
i Challenge: parallel is weak; in case of nny, she is utterly gone; here, she still lives at father’s house
ii  Answer: even in case of PwyTp, she has left father’s domain vis-a-vis 0»171 n1an
d  Challenge: v. 2 is used for another nw17: that she leaves when she becomes a 011 and when she is a nna
i Answer: PR is written with a > (as opposed to vv. 7-8)0>it can be used twice — as it is in the nv1Tonv. 6
e  Justification: for the text to state that the wages, as well as the pw1Tp, of a N1 go to her father
i If: we only knew about pw11p, 8”10 she didn’t work for them, she doesn’t keep them, as opposed to wages
ii  If: we only knew about wages, 8”10 her father feeds her so he has rights to her wages, as opposed to pwvITp
III Revisiting the “other” w77 on (M732) 902 PR (MIPI) DIN ARYN
a  Challenge: let the nn tell us that a N1 goes free, and then it is obvious that a na goes free
b Answer (¥2%): this is similar to v. 9, where 15 (more transitory) teaches that awn refers to yx71 Tay
i Challenge (»an): incomparable — in that case, they are 2 distinct people and even if the nmn expliciltly
stated that a 2v1n was an yx71 72y, the explicit mention of a 775w would be alegitimate “overkill” of a vp
1  However: in our case, once she’s left as a N3, she wouldn’t be in his house as a nna
¢ Answer (73N): the verse comes to liberate a nmY»& nana — R”1o without 021n'o, she doesn’t go free at all
i Challenge (v~ 37 72 7p): this is also a v"p:
1 57 vavo (which don’t provide her exit from father, but do from master)
2 o age (Ma — which liberates her from father — certainly liberates her from master
d answer (*¥x 27 72 91): teaches that the sale of an nnY»R itself is valid (no fraud)
i Note: his challenge rests on the claim that being liberated by m1 is understood via vp -
1 However; we are ready to accept textual “overkill” — 8p 1% an2 N0 17p2 RINRT RPN
2 Answer: if we can provide an answer that avoids relying on textual overkill, we do so
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